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1.Which need drives a project to use an SOA approach?

A.Business flexibility

B.Resource virtualization

C.Application integration

D.Improved systems management

Answer:A

2.Which role does WS-Security play in an SOA?

A.lt provides security interchange for RESTful Web services.

B.It enforces authentication and authorization within an SOA.

C.lt provides an end-to-end security context among Web services.

D.It provides a security implementation for Enterprise Service Buses (ESB).

Answer:C

3.What is a role of Web services in building an SOA?

A.To provide interoperability using XML-based messages

B.To provide an interface for human interaction using task lists

C.To provide loose coupling via remote method invocations using JAX-RPC

D.To implement the service functionality through interfaces defined in the applications' BPEL
Answer:A

4 Which initiative helps achieve business agility in SOA?

A.Pairing up the appropriate service consumers and providers.

B.Buying prefabricated objects to quickly implement business functions.

C.Choreographing a business process to efficiently implement the desired business functions.
D.Designing and developing a new business process model rather than adapting an existing one.
Answer:C

5.In applying SOA, which principle can reduce overall cost?

A.Reuse services across lines of business.

B.Build services for only the most important business functions.

C.Build general services that can perform a variety of business tasks.

D.Reimplement all services on a consistent hardware and software platform.

Answer:A
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